20km

*1 GM(
*2
*3 Nal(
*4

2011 4 20 13 00

1 ook 4 20 8 33 117
2 5k 4 20 9 10 217
3 a5 4 20 10 26 187
4 sox 4 20 9 26 117
37 ok 4 20 10 07 257
75 - 4 20 10 50 127
76 o 4 20 10 36 0.6 2
84 w0 4 20 10 08 0.2
85 ook 4 20 6 00 0.3
86 sk 4 20 6 00 107
87 s 4 20 6 00 107
101 . 4 20 9 38 0.9 2
106 4 20 10 14 0472

30km




S A
4¥€20d
6XA]00E~11A]00E

=
=g 4

=
SN §: B - S2AI0F 1R KIS E A
ﬁ * (;:5-]
N 0.6
[36] ) - S0 R K2 E A
| 10 HEE N2
%
by [106]
5 | 0.4 ‘?04
= e | [87]
) : ; 10 |
WA B D
_ il. Pz |
10km i
g 0[] [ uiBs
4 i- ! | 02 Y (75] 9lmhe] AR AW E w)A]
SRMAER » : 12

Sct0ls HefEel IS LEt-LICH



TRERY,
(Flo] A2 A B E)

250,000
100,000
50,000

At

=
- o

[250,0000t01 2 AIH E/&H 2]

Ol At
—

re

10,000

[10,000010| AZ AIH E/Q12¢] g2 zoemas

9 »
S0 AI390 S4101H290 7%/ !
[2,4000t0| A2 AIHE /A2 ]i ﬁ.
\

*
UiXioA480 21 2
EFEOHA—HZG&/ I

= AL 2] THOI(H 2t
(818 82X X012 =]

CER-52 2] 3 (2=2)
(D=0l o8t $$@9| %DP
[2000}0| A ZAIHE/ZE]

MHel SEAML Ak =&

[2201013 2 AIHE/H 2H] W0 o3 BOtxI(212))

S0 A e =£2

[100t0| A2 AIHE/AHZ] ™ sz oi=xea

X Sv[AIHE]=2ZAID SF0 2t =S E= (%) x Gy [2al0l]
_|

AN2OUXE "X 2002"E 2FHSH0AM =Y

[100, OOOD}OIEEAI |:|'| E/A2H]

t”/\}d L2 SAAL S 2H0 2eE 3FE - a2
FXFOI I 1R Gl = Abst

[50 OOODPOIEEAI HE/HAH 2]

% Xd HEH oS
B AACTAH) (18)

6,9000t0| A2 AIHE/3]]

(1sh

_;[600[] OlI3ZAHE/3I]

AN LT L (Z4R) Feiol
et E.\_Lx|(043|-)
(AHUAM= 0l SEXIE 2222 251D US.

X Xd, rdUlA=E 1

[500t0| A2 AIHE/H 2t

)

E/H2t]

]




	【韓国】モニタリング結果（４月２０日１３時）
	スライド番号 1

	
	【修正4月10日】(韓訳版)日常生活と放射線放射線.pdf
	スライド番号 1



